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. Given ¥=x"(14+x) €, find — (10%)

d

. ly
.H,V=V1+x2$n2x’ﬁm12; (10%)

8 dy
. Giventhat ¥=%"(1-x) . find — (10%)
. Solve the following differential equations
(2x+3y—2)dx+(3x—4y+l)dy =0 (10%)
. Use Integrating Factor to solve the following differential equations

ydx+(2x+4)dy =0 (10%)

. This differential equation is Bernoulli’s equation. Solve the following differential
equation

1
y—;y=mﬁ(m%)

. The tangent slope of a curve is 3X P+ 2x , and it passes through (1,4). Find the

equation of the curve. (10%)
. Solve the following second-order differential equations

y'=6y+9y=0 (10%)

. Solve the following second-order linear nonhomogeneous differential equations

£1R - 6328




yn_3y|l+2y:e3x (10%)

10.Use second-order Euler-Cauchy equation to solve the following second-order
linear nonhomogeneous differential equations

x2yn_2xy'+2y:x3 (X>0) (10%)
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